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Ans:

Ans:

Ans:

Find HCF by factorization method.
21x7y,35xy°

21x3y=3xzxzxxxx
35xy" =5xTxxyxy
Common =7xxxy
H.C.F =7xy

4x* —9y%,2x% —3xy

4x* ~9y* =(2x) - (3y)’
=[2x—3y][2x+3y]

2x* =3xy=x(2x-3y)
Common =(2x-3y)
H.CF =2x-3y

X -Lx+x+1

x3—1=x3—(1)3
= (Jf—l)(x2 +x+l)

Ans:

X 4+x+l=x"+x+1
Common =x" +x+1

HCF =x"+x+1

a’ +2a*—3a,2a’ +5a° —3a

a’ +2a* -3a

=a(a1 +2a—3)
:|:451f1 +3a—a—3]
=a(a+3}—](a+3)
=(a+3)(a-1)

2a° +5a* —3a
:a(lﬂr1 +Sa—3)
=a|:2.f,:r2 +6a—1a—3]
=a|:a(a+3)—](a+3)]
=a(a+3)(2a-1)
=H.CF a(a+3)
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Ans: Ans:
1 =3t—4=r-4r+1t-4
=t1(t—4)+1(r—4) =(t-4)(r+1)

x-5
X —4x+3 | X*-9x* +21x-9
+x° F4x? +3x

P+5t+4=+4t+1t+4 By £18%—9
=t(t+4)+1(t+4) =(t+4)(¢+1) +5x” +£20x +15

-2x+6
P =1=1 -1* =(¢+1)(z-1) -2(x-3)
H.CF (¢+1)
x—1
6. x> +15x+56,x* +5x—24,x* +8x +=3 | 2 _a1a
Ans: +x” F3x
x> +15x+56=x> +8x+7x+56 —x+3
+x+3
=x(x+8)+7(x+8) — N
H.CF = (x-3)
=(x+8)(x+7) o 2 +2x +2x+2,6x +12x" +6x+12
x*+5x-24=x"+8x—3x-24 Ans:
3
=x(x+8)-3(x+8 > 2
x(x+8)-3(x+8) 25 +2x° +2x+2 | 6x° +12x%6x+12
=(x+8)(x-3) +6x° +6x° +6
x> +8x=x(x+8) o +,6
3(2x* +2)
Common =(x+38)
H.CF =x+8 Wt ]
2 3 2
e Find HCF of the following expression I X" + 2% 42
. S +2x° +2x
by using division method. .
. : 2x°+2
o 27x +9x" —3x—-10,3x-2 252 +2
Ans: HCF =2(x* +1)
9x* +9x+5 o 2x°—4x?+6x,x° -2x,3x> —6x
3x-2 | 27x* +9x-3x-10 Ans:
+27x* F18x7 ; x3+2
3x*—6x | x —2x
27x* —3x-10 3
+27x? F18x +3x> F6x°
5x—10 +6x° F12x
+15xF10 ox
H.CF=(3x-2)

Since is not the factory polynomial so



Ans:

Ans:

Ans:

are ignore
3x—6
X | 3x% —6x
+3x°
—6x
+6x

2x* —4x+6

X | 2x* —4x+6x

+2x°

—4x* + 6x

+6x

H.CF=x

Find LCM of the

expressions by using
factorization method.

2a’b,4ab’.6ab

following
prime

2a°b=2xaxaxb
4ab=2x2xaxb
6ab=2x3xaxbh

Common factor =2xaxb=2ab

Non common factor =ax2x3=06a
L.CM=C.FxN.CF

=124’
2 - P
X +x,Xx +Xx

x> +x=x(x+1)
X +x*=x"(x+1)
=xxx(x+1)

CF =x(x+1)

N.CF =x
LCM=CFxN.C.F

=x(x+1)xx =x2(x+l)

a’—4a+4,a> -2a

a’—4a+4=a"-2a-2a+4
=a(a-2)-2(a-2)
=(a-2)(a-2)
a’-2a=a(a-2)

C.F =(a—2)

N.CF =(a-2)a
LCM=CF xN.C.F
LCM= (a-2)(a-2)a
LCM= a(a-2)’

Ans:

Ans:

X’ —4x=x(x*-4)
=x(s" -2

= x(x-2)(x+2)
CF=(x-2)(x+2)
N.CF=x(x’+4)
LCM=CFxNCF
=(x—2)(x+2)x(x* +4)
=x(x2 —22)(x2 +4)
=x(x2 —4)

=x(x2 —4)():2 +4)
=x(x4 —16)

16—42%: X 4+ x—6:4—x

16—4x* =—4x* +16

=4[ x* - 4] =-4[x*-27]
=—4[x—2][x+2]

¥ +x-6=x>+3x-2x-6
=x(x+3)-2(x+3) =(x+3)(x-2)
4—x2:—x2+4=—1(x2—4)
:—1(x2—22) ==1(x-2)(x+2)
CF=(x-2)

N.C.F
=—4x-1(x+2)(x+3)=4(x+2)(x+3)

LCM=CF xN.CF
=(x-2)[4(x+2)(x+3)]
=4(x—2)(x+2)(x+3)
=4[x" —4][x+3]



Ans:

Ans:

y+2

The
polynomial

The HCF of two polynomials is y—7

and their LCM is y" 10y +11y+70.
If one of the polynomials is
y* =5y —14, find the other.

HCF=y-Z

L.CM =y’ -10y° +10y+70
p(y)=y'-5y-14

()=
(

)
p(»)q(y)= HCF xLCM
)

-

H.CFxL.CM
p(»)
(y=7)(»* -10y* +11y+70)
y*-5y-14
(y—7)(y3—10y2+11y+70)
)=l
(y=7)(»*-10y* +10y+70)
y(y-7)+2(y-7)

_y3—10y2+11y+70

y+2
y' —12y+35
¥y’ +10y” +11y+70
+y° + 2382
-12y° +11y+70
F12y® +24y
35y+70
+35y+70
q(y)=y*-12y+35
LCM and HCF
p(x)

36x3(x+a)(x3—a3) and x’(x-a)

q(y

q(y):

of two
and ¢(x) are

respectively. If p(x)=4x’ (x2 -a*),
find the other.

L.CM =36x3(x+a)(x3 —a3)
H.CF =x’(x-a)

p(x)=4x* (x2 —az)

q(x)

Ans:

g(x)p(x)= L.CM x H.C.F

L.CM x H.C.F
q(x)= -
N 9(x3)(x-i-a)(x3 —a3)x2 (x—a)
q(x)— 4x2(x2—a2)
9(.\:3)(,\'+a)(x-a)(x2 +ax+a3)(x~a)

(x—a)(x+a)

q(x)=
q(x)=9x3(x—a)(x2 +ax+a2)

q(x)=9x* (x3 -a’ )
The HCF and LCM of two
polynomials is  (x+a) and
12x2(x+a)(x3 ——a3)

Find the
polynomials

respectively.

product of the two

H.CF =x+a

L.CM =12x2(x+a)(x2 —az)

p(x)xq(x)=2

p(x)xg(x)=H.CFxL.CM
)

p(x)xq(x)= (x+a)[12x2 (x+a)(x2 -a )]

p(x)xq(x)=12x*(x+a)’ (x2 —az)
Or
=12x* [x+a][x+a][x—a][x+a]

=12x3(x+a)2 (x2 —az)



